PreCalculus Name \W

. . v
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Draw the resultant vector with the given conditions.

M=(-46) C=(2,-7) H=(0,6) u=(=3-1)v=(2-8 w=4i+8j
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Determine the unit vector for the following vectors.
F 4)v = (-5, 8) 5) HM where H = (2,—2) and M = (6,1) 6) w=6i—3
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v=3 w=5  P=(=14) Q =(6,2) R=(-31) 5=(2,4)
0,3y  <5,02
7Yv+w and RS Yu=(-7,2) and PO
5,2y = <5, z> =+ <71,-2)

Yo, Some d“”t?chw\/ﬁ mmqn%W No, d\@'ﬂf(!?m-i‘clr\f@vﬁ | |

Determine each resultant using the following information:
u=(25v=(-13 w=(9,-6)
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13) Write the graphed vector in ai + bj form and determine its magnitude.
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14) Determine u - v ifu = (3, —4) and v = (6, 2). 15) Determine v - u ifu = (=1,4) and v = (8, 2).
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16) Determine the angle between the vectors if u = (=7,9) and v = (4, —5) O } -/
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17) Determine the angle between the vectors if u = (6, O; and v = (0, —3)
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Write each vector given its magnitude and direction in component (ai + bj) form.
22) speed = 39 m/s at 73° from the horizontal 23)speed =39 m/s at N12°E
i o =on ¢
V -(50! 005 73°, 39 s;r:(f3°)> V=<3 578,250
b. y. s = 0 ’ 9 < : & - a/
K 0sT3°L +39 s5inl3 ) 290578 + 5%“77@



